DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

121) —450.94 = & = 136) —30.723 =7 =
122) —5292.56 = & = 137) 483.21 =9 =
123) 1231.2 +8 = 138 =281 +4 =
120) 149.36 = & = 139) 6357.4 +7 =
125) —7154.4 = & = 1) —3105.2 =4 =
126) 24800 =— 5 = 1y —22.76 + 10 =
121 —27.951 =7 = 1) 12,18 +5 =
128) 59622 — 6 = 143) 10492 =2 =
129) —6.483 = 3 = 144 —35898 — 6 =
130) 86922 = 9 = 15 1044.2 + 2 =
131) 2094 = 3 = 146) —435.9 = 3 =
132) 46.9 =7 = 7). —8284 -4 =
133) 539.6 -4 = 18) 24246 = 3 =
3y —95.28 + 10 = 19 —18440 + 4 =
135 73.98 = § = 150) —37261 =7 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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